




2) With BL-xxx-xxx aluminium feet
     安裝 BL-xxx-xxx 系列鋁腳

Step 1: Drill a Ø10 ~ Ø12mm hole or knock a M10 threaded nut into the bottom of cabinet / sofa
步驟一: 底部先鑽 Ø10 ~ Ø12mm 孔, 或置入M10 T 形螺母

Step 2: Fixed BL-xxx-xxx cabinet / sofa feet directly through the hole with M10 hex nut or
              to the M10 threaded T-nut 
步驟二: 將 BL-xxx-xxx 鋁腳以 M10 六角螺母鎖上或固定於 T 形螺母 (無法調整高低)

Ø10 ~ Ø12mm hole

(鑽孔 Ø10 ~ Ø12mm)
M10 thread T-nut
(M10 T形螺母)

M10 hex nut M10 thread T-nut

floor (地面)

FW Cabinet / Sofa Feet  櫥櫃 / 沙發鋁腳
2015 ~ 2016

40



Category 3      第三類產品 

 FW Cabinet / Sofa Feet  櫥櫃 / 沙發鋁腳

41

ARD35PG-10 & 16 (Ø35mm tubing)
page 43

ARD35DSK-10 & 16 (Ø35mm tubing)
page 44

ARD42PG-10 & 15 (Ø42mm tubing)
page 45, 46

ARD42DSK-10 & 15 (Ø42mm tubing)
page 47

ARD50TUL-09, 13 & 16 (Ø50mm tubing)
page 49, 50

ARD50TUSK-09, 13 & 16 (Ø50mm tubing)
page 48

FW Cabinet / Sofa Feet  櫥櫃 / 沙發鋁腳
2015 ~ 2016



42

ARD50TRP-09 & 13 (Ø50mm tubing)
page 51

ARD50TRSK-09 & 13 (Ø50mm tubing)
page 52

ASQ35PG-10 & 15 (35x35mm square tubing)
page 53

ASQ35RX-10 & 15 (35x35mm square tubing)
page 54

ASQ50PG-10 & 26 (50x50mm square tubing)
page 55

ASQ50RX-10 & 26 (50x50mm square tubing)
page 56

 FW Cabinet / Sofa Feet  櫥櫃 / 沙發鋁腳

FW Cabinet / Sofa Feet  櫥櫃 / 沙發鋁腳
2015 ~ 2016

Category 4      第四類產品 
































